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1. 7V×{�×g, �A�ÿÕ1T6, B�ÿÕ�ó�

(i) uh
×2ÑÝ{�, �JA�B}ñ�

(ii) uh{�Î�'Î2Ñ�JA�BÎÍ}ñ��JTÍJ��

2. 'Ω = {1, 2, 3, 4, 5, 6}��X(ω) = 2, ω = 1, 2, 3, 4, X(ω) = 7, ω = 5, 6�

(i) ��t�Ýσ-�F , ¸ÿX
×r.v.�

(ii) �3Fî�L×^£ÐóP�

(iii) ���X�5µÐóF�

(iv) ���Y = X2�p.d.f.�

3. �Ω = {−3,−2,−1, 1, 2, 3}��X(ω) = ω2, ω ∈ Ω, Y (ω) = −1,uω = −3,−2,−1,

Y (ω) = 1, uω = 1, Y (ω) = 2, uω = 2, 3�

(i) ��t�Ýσ-�F1, ¸ÿX
×r.v.�

(ii) ��t�Ýσ-�F2, ¸ÿY
×r.v.�

(iii) ��t�Ýσ-�F3, ¸ÿU = Y 2
×r.v.�

(iv) ��t�Ýσ-�F4, ¸ÿX, Y/
r.v.’s�

4. 'X1, · · · , Xn
i.i.d.�U(0, 1)r.v.’s��X(1) ≤ X(2) ≤ · · · ≤ X(n)�Í5�Ù�

��ê�Uk = X(k) −X(k−1), 2 ≤ k ≤ n�

(i) �OUk�p.d.f.�

(ii) ¼�Ukb£×ð�5µ, ¬��¢ó�

(iii) �OE(Uk)�

(iv) �OP (Uk > t), 0 ≤ t ≤ 1�

5. (i) 'U�V}ñ, vU, V/bEÌ5µ��JU + VùbEÌ5µ�

(ii) 'U�V}ñ, vUbEÌ5µ��JUVùbEÌ5µ�

(iii) �Ü×»�î, uU�V�}ñ, JÇ¸U , V/bEÌ5µ, UV�×�bE

Ì5µ�

(iv) 'U�V5µ8!, vU + V = a, Í�a > 0
×ðó��JP (U > 0) ≥
1/2�


